

SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE – 35



UNIT 4 INTERPOLATION, NUMERICAL DIFFERENTIATION AND NUMERICAL INTEGRATION

APPROXIMATION OF DERIVATIVES USING INTERPOLATION POLYNOMIALS



SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35



UNIT 4 INTERPOLATION, NUMERICAL DIFFERENTIATION AND NUMERICAL INTEGRATION

APPROXIMATION OF DERIVATIVES USING INTERPOLATION POLYNOMIALS

$$\frac{d^{3}y}{dx^{3}} = \frac{d^{3}y}{dx^{3}}\Big|_{q=0} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} - \Delta^{3}y_{0} + \frac{11}{12}y_{0} + \dots \right]$$

When $u > 0$

$$\frac{du}{dx} = \frac{1}{h} \left[\Delta y_{0} + \frac{(8u-1)}{2} \Delta^{2}y_{0} + \frac{(3u^{2}-6u+2)}{6} \Delta^{2}y_{0} + \frac{(4u^{2}-18u^{2}+28u)}{6} \right]$$

$$\frac{d^{3}y}{dx} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} + \frac{(8u-1)}{2} \Delta^{2}y_{0} + \frac{(6u^{2}-18u+1)}{6} \Delta^{2}y_{0} + \frac{(4u^{2}-18u^{2}+28u)}{6} \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} + \frac{(8u-1)}{2} \Delta^{2}y_{0} + \frac{(6u^{2}-18u+1)}{6} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{2}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4}y_{0} + \dots \right]$$

$$\frac{d^{3}y}{dx^{2}} = \frac{1}{h^{2}} \left[\Delta^{3}y_{0} + \frac{(8u-1)}{12} \Delta^{4$$